13. When %k + %k = 1, what is the value of k ?

A. -,17
B.
c.
D. 6
E. 12



11. Forallx, 3x+ 7)*=?

SR e

6x + 14
6x° + 14
9x* + 49
9x° + 21x + 49
Ox% + 42x + 49



15. If 3*= 54, then which of the following must be true?

A. 1<x<?2
B. 2<x<3
C. 3<x<4
D. 4<x<5
E. 5<x



9. The expression (3x — 4y2)(3x + 4y2) is equivalent to:

A. 9x* - 16y"
B. 9x* - 8
C. 9* +16y"
D. 6x* - 16y*
E. 6x*— 8



22. If a, b, and c are positive integers such that a’ = x and
c’ =y, then xy = ?

RO
N
L2



47. If r and s can be any integers such that s > 10 and
2r + s = 15, which of the following is the solution set
for r ?

HEQFEP>
N Y Y Y Y
IANINIV IV IV
NONO W



59. For all real numbers b and ¢ such that the product of
¢ and 3 1s b, which of the following expressions repre-
sents the sum of ¢ and 3 in terms of b ?

A. b+3

B. 3b+3



23. Which of the following expressions is equivalent to

%y2(6x +2y + 12x — 2y) ?

A. 9xy°

B. 18xy

C. 3xy*+12x

D. 9xy* -2y’

E. 3xy"+12x—y' -2y



42. For all real x and m, if (x,- 1)(x + m) = x* + kx - m,

e K (ol Fesu sulf Y. 4,(,447

gl e K prodicts 7096750



24. For nonzero numbers x and y, which of the following Y M é } i% 74 / / o 4
I 97 TAE€ ou/inG

expressions is NOT equivalent to == ?

G Kubtstions reguire Yee 7o 257
TE el oné * |
e T (7) i

";K'..'___.Z-:_.-—- < -;-"/'“ SR i ey
33 S L

-
-~

o= @@
et i AL
@‘QHIH AP

[t |t

ACT-61B-SAMPLE YQQ\ Pro MQ ‘ 18 GO ON TO THE NEXT PAGE.
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37. Which of the following is NOT a factor of z° — 167 2 DO YOUR FIGURING HERE

—>A. zi-l ' F C7 @ 5
4 -4 JLactorivg 25 14%459,74;555 2/736/“”/4J

i . 242 -

b i Differevedt o 24259 =2(-262)E)

38. What is the sine of «@ in the rioht trianala charnm in ¢thn




L]

19. (2x-—3)’)ﬁs equivalent to: E/_ NO /47/&// waﬁ% (,A

T e L EN 4
N EET Take 1 T o e of ()
(01 E. 4x -6y ﬁ’; Zﬁﬂﬁf/"’/ﬂ/f M/%?W;#égg)z;, 752—
~labsb ﬁ bt 7o - |
,, /oke bolh Ternts any/ /ﬁéﬁ%é .

Hen anif e Gkl 4 Jodis —/22

LX) -3y = —bxy ¥ 2 =



18. When y = x*, which of the following expressions is
equivalent to —y ?

F. (-x)
G. —x
H. —x
J -2



8. What is the simplified form of —(3x + 5)%?
f. 9x%+ 30x + 25
g. —9x* - 25
h. 9x? + 25
i. —9x?-30x-25
j. —39x2 - 25



13. For what value of a is x = 3 a solution to the equation

‘x+3=ax+97
C A 15 ' MpRe K>3

B. 1

T Jr3=a377
| (- = 2

wcrers —% 2 DA 1 GO ON TO THE NEXT PAGE.
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33. IfV2x - 5=1,thenx=7 5&/\/ DO YOUR FIGURING HERE.
A. -8
£ o cun G AGilEe
R dow Nz =@
yW mz/ o 7{ 24

= /5




L\ " . L\ [\ ‘

S //O/g Apr27/ A7 <

15, (4x° - 3x+7)~ (=1 +5x + 2 is equivalent to: DO YOUR FIGURING HERE.
— 2x" = 8
. 212-1—2,::8 Yt —3x4+74]=Sx ME»}ZJ/{% /é’((,

22+ 2x2 + 6 ‘2_1 /57;7/[%; % /‘@%;/b‘:
61’ -8x +6 le___ gx+ g
preper/y.

F”F’.ﬁ!’

-8x%+6




19. (2x ~ 3y)* is equivalent to: B/U'@ /47/'&/ _gyw% 5’/5

> AL 4x? = 23y + 9y ’ . >7_ 7 -~
LSS Take 1T o e o )

D. 4x?+9y°

bl E. 4r — 6y ﬁ’; Zﬂﬂﬁ/fﬂﬂﬂ M/gfmé,#ezg)?—; 75'1
._f:%"' ACT-63E-SAMPLE ﬂ/’ éﬁ 7/77 f@W S 1,7/(// /ﬂ( ,éé / é ¥ £ET Puss
Hem anid 25 dof) A ki 125
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31. What are the (x,y) coordinates of the unique point on |
the graph of x + 4y = 18 such that the y-coordinate of /l\ N {/ M
J(v Y (AU O
'staet wiTh e

that point is twice the x-coordinate?
A. (1,2)
L g %w L (e f
WorKe- (0) 1orby
WES §; T W

D. (4.8) W
E. (9,18)
Gel

orssc érn/l H ] B GO ON TO THE NEXT PAGE.



48. What is the value of (x + 2)(x = 3) + 5 when 6‘ 4’2‘> (T“ 3) - ’I?'-—-FX‘ __,(g — _?

xX*-x-6=-49

q:‘é :? SebstiTuite X +2)(v-3) wT —Y
Pi CD+s =4




- — : \/‘usu—i So =62

54. 1f (x + m)? = x* + 12x + n, where m and n are integers,

what is the value of n ? "X _'_Z")CM J'ML IS Shre asg
. 36

; f(; gg ’ﬂyr@%ﬁ"e* x* o+ 1 N
3. 18 Z X 1 = 2 QJ/M/) 49 %\,




‘/\/\/\/\/\/\/\/\/\Z

57. If x+ y=6,then x* =9 ~ .}\ f/ DO YOUR l:lGURING HERE.
o e [Dy - y -
2RSS S b I SV VL PR

D. 36 -y
/yE. 36 - 12y + y?
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L

15. What polynomial must be added to x* — 2x + 6 so that
the sum is 3x° + 7x ?

A.

ST

4x* + 5x + 6
3x*+9x + 6
3x* +9x - 6
2x* +9x - 6
2x* —5x + 6



21. (a+ 2b + 3c) — (4a + 6b — 5c¢) 1s equivalent to:

A. —4a-8b—-2c
B. —4a-4b + 8¢
C. -3a+8b-2c
D. -3a-4b-2c
E. -3a-4b+ 8¢



